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BSEH Practice Paper 2( March 2025)

CLASS:10th (Secondary) Code:B

Roll No.

गणित(आधार)

MATHEMATICS(Basic)
[Time Allowed :3 hours] [Maximum Marks:80]

________________________________________________________

 कृपया जाँच कर ले कक इस प्र-पत मे मुद्र पषृ् 20
रथा प्र 38 है I

 Please make sure that the printed pages in this question paper
are 21 in number and it contains 38 questions.

 प्र-पत के दाई ओर ददए गए कोड नंबर को छात द्ारा
उतर- पुस्रका के पहले पषृ् पर ललखा जारा चादहए I

 The code No.on the right side of the question paper should
be written by the candidate on the front page of the answer-
book.

 ककसी प्र का उतर देरा शरु कररे से पहले उसका कमामक
ललखरा होगा |

 Before beginning to answer a question, its Serial Number
must be written.

 अपरी उतर पुस्रका मे खाली पषृ्/ पषृ् र छोड़े I
 Don’t leave blank page/pages in your answer-book.
 उतर-पुस्रका के अतरररकर कोई अनय शीट रहीम दी जाएगी

I अर: आ््यकरारुसार ही ललखे ् ललखा उतर र काटे I
 Except answer-book, no extra sheet will be given.Write to

the point and do not strike the written answer.
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 परीकाथा अपरा रोल रमबर प्र-पत पर अ््य ललखे I
 Candidates must write their Roll Number on the question

paper.
 कृपया प्रश का उतर देरे से पहले यह सुतरस्चर केर ले कक

प्र-पत पूर् ् सही है,परीका के उपरामर इस समबमध मे कोई
भी दा्ा ््ीकार रहीम ककया जाएगा I

 Before answering the questions,ensure that you have been
supplied the correct and complete question paper,no claim in
this regard,will be entertained after examination.

सामान् ननर्द:

1. इस प्र पत मे 5 खंड क, ख, ग , घ और ङ हैं

2. खणड -क मे 1 से 20 रक एक –एक अमक के प्र हैI1 से 18 रक

बहुव्कलपीय(MCQs),एक शबद उतरीय, ररकर ्थार पूतर ् ,सतय /असतय

प्र रथा प्र समखया 19 और 20 अलभकथर-रक् आधाररर प्र हैं

3. खणड-ख मे 21 से 25 रक अतर लघु उतरीय(VSA) पकार के रो-

रो अमकश के प्र है I

4. खणड-ग मे 26 से 31 रक लघु - उतरीय(S A) पकार के तीन –

तीन अमकश के प्र है I

5. खणड-घ मे 32 से 35 रक दीघ् - उतरीय(LA) पकार के पाँच-

पाँच अमकश के प्र है I

6. खंड- ङ मे प्र समखया 36 से 38 रक पकरर अधययर आधाररर

चार -चार अमकश के प्र है I पतयेक पकरर अधययर मे

आमरररक व्कलप रो –रो अमकश के प्र मे ददया गया है I
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7. सभी प्र अतर्ाय् हैं हालाँकक, खणड-ख के 2 प्रश मे, खणड-ग

के 2 प्रश मे, खणड-घ के 2 प्रश मे रथा खंड- ङ के 3 प्रश

मे आमरररक व्कलप का पा्धार ददया गया हैं

General Instructions:

1. There are 5 sections A, B, C, D and E in this question paper.

2. Section – A consists of one mark questions from 1 to 20. 1 to 18 are
Multiple Choice Questions (MCQs),One Word Answer,Fill in the
blank,True/False and question numbers 19 and 20 are Assertion-
Reasoning based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of
two marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks
each from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks
each from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based
questions of four marks each. Internal choice is given in each case study
question of two marks each.

7. All questions are compulsory. However, provision of internal choice
has been made in 2 questions of Section-B, 2 questions of Section-C, 2
questions of Section-D and 3 questions of Section-E.

खणड-क

SECTION-A
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खणड-क मे 1 अंक के 20 प्न हैं

1. ( 23 × 32 × 5),( 22 × 33 × 52)तथा (24 × 3 × 53 × 7)का HCF है

(a)50 (b)45 (c )110 (d)60

1.HCF of ( 23 × 32 × 5),( 22 × 33 × 52) and (24 × 3 × 53 × 7)is

(a)50 (b)45 (c )110 (d)60

2. शून्क -2और 5 वाले बहुपद की संख्ा ह:ै

(a)1 (b)2 (c )3 (d) 3 से अणिक

2. The number of polynomials having zeroes as -2 and 5 is:

(a) 1 (b)2 (c )3 (d)more than 3

3.णिमणलणित मे से कौि सा ण्वात समीकरि िही ह?ै

(a)(x+2)2 =2(x+3) (b)x2 +3x =(-1)(1-3x)2 (c )(x+2)(x-1)=x2-2x-3

(d) x3 -x2+2x +1=(x+1)3

3. Which of the following is not a quadratic equation ?

(a) (x+2)2 =2(x+3) (b)x2 +3x =(-1)(1-3x)2 (c )(x+2)(x-1)=x2-2x-3

(d) x3 -x2+2x+1=(x+1)3

4.्दप दकसी गोले का आ्ति और ुृषी् केषेल संख्ाामक रु से बराबर ह,ै तो
गोले की णषर्ा ह:ै

(a) 2 इकाई (b) 1इकाई (c )3 इकाई (d) 4 इकाई

4.If the volume and the surface area of a sphere are numerically
equal,then the radius of the sphere is

(a) 2 units (b) 1 unit (c )3 units (d) 4 units

5.्दप A (n
3
,5) बबंपु P(-6,7)और Q(-2,3) को णमलािे वाले रेिािंड का मध् बबंपु

ह,ै तो n का माि ह:ै

(a) -12 (b)-4 (c )12 (d)-6
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5.If A (
�
3
,5) is the mid- point of the line segment joining the points P(-6,7)

and Q(-2,3), then the value of n is :

(a) -12 (b)-4 (c )12 (d)-6

6.्दप ABCऔर DEF इस पकार समरु णषरुभ है दक ∠A = 47° तथा

∠E = 83°,तब C बराबर ह:ै

(a) 50° (b) 60° (c ) 70° (d) 80°

6.If ABC and DEF are similar triangles such that ∠A = 47° and

∠E = 83°,then ∠C is equal to

(a) 50° (b) 60° (c ) 70° (d) 80°

7.आकृतर मे यदद ∠AOB = 125°, रब ∠COD = 125° बराबर है :

(a) 62.5° (b) 45° (c ) 35° (d) 55°

7. In figure if ∠AOB = 125° ,then ∠COD is equal to :

(a) 62.5° (b) 45° (c ) 35° (d) 55°

8.्दप tanθ =
a
b

, तब cosθ=

(a) a

a2+b2
(b) b

a2+b2
(c ) a2+b2

a
(d ) a2+b2

b
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8. If tanθ =
�
�
, then cosθ=

(a) �

�2+�2
(b) b

a2+b2
(c ) �2+�2

�
(d ) a2+b2

b

9.्दप 12 मीटर ऊंचे िंरे की छा्ा भमीि ुर 4 3 मीटर लंबी ुडती ह,ै तो सू्् का

उन्ि कोि ह:ै

(a)600 (b)450 ( c) 300 (d)900

9. If a pole 12 m high casts a shadow 4 3 m long on the ground,then the
angle of elevation of sun is :

(a) 600 (b)450 ( c) 300 (d)900

10. 10 सेमी णषर्ा वाले वृत की एक भीवा इसके कें ुर समकोि बिाती ह।ै भीवा

की लंबाई (सेमी म)े ह:ै

(a) 5 2 (b) 10 2 (c )
5
2

(d) 5

10. A chord of a circle of radius 10 cm subtends a right angle at its
centre.The length of the chord(in cm) is:

(a) 5 2 (b) 10 2 (c )
5
2

(d) 5

11.आंकडद 2, 9, x+6, 2x +3 , 5,10, 5 के णलए; ्दप माध् 7 है तो x का माि है :

(a) 9 (b) 6 (c ) 5 (d) 3

11. For the data 2, 9, x+6, 2x +3 , 5,10, 5; if the mean is 7, then the value
of x is :

(a) 9 (b) 6 (c ) 5 (d) 3

12.1 से 40 कमांक वाले टटकटद वाले बैग से ्ापणृ्छक रु से एक टटकट णिकाला

भाता ह।ै च्णित टटकट मे एक संख्ा 5 का गुिभ होिे की पाण्कता ह:ै

(a ) 1
5

(b) 3
5

(c ) 4
5

(d ) 1
3
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12. One ticket is drawn at random from a bag containing tickets
numbered 1 to 40. The probability that the selected ticket has a number
which is multiple of 5 is :

(a )
1
5

(b)
3
5

(c ) 4
5

(d )
1
3

13.एक संख्ा णभसे
p
q
रु मे व् िही दक्ा भा सकता ह,ै भहां p,q ुूिाणक ह,ै

q≠ 0 और p, q सह-अरार् ह,ै ________________ संख्ा कहलाती ह।ै

13. A number that cannot be expressed in the form
�
�
,where p,q are

integers, q≠ 0 and p, q are co-prime is called ______________ number.

14. 5 सेमी णषर्ा वाले एक वृत के बबंपु P ुर एक सुश्रेिा PQ कें O से होकर भािे

वाली एक रेिा से बबंपु Q ुर इस पकार णमलती है दक OQ = 12 सेमी हो, तो लंबाई

PQ_________ सेमी ह।ै

14. A tangent PQ at a point P of a circle of radius 5 cm meets a line
through the centre O at a point Q so that OQ = 12 cm, then length PQ
is_________ cm.

15.यदद sinθ= a रथा secθ = b ,रब tanθ का मार ________ है |

15. If sinθ= a and secθ = b , then tanθ is________

16.्दप 4 tan=3 तो 4sinθ−cosθ
4sinθ+cosθ

का माि क्ा ह?ै

16. If 4 tanθ=3 then what is the value of
4sinθ−cosθ
4sinθ+cosθ

?

17. 7 सेमी णषर्ा वाले एक वृत के चतुथाणश का केषेल क्ा होगा?

17. What will be the area of a quadrant of a circle of radius 7 cm?

18.्दप n एक पाकृत संख्ा ह,ै तो 6n अंक 0 ुर समाप हो सकता ह।ै (सा्/असा्)
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18. If n is a natural number,then 6n can end with the digit 0. (True/False)

प्र 19 और 20 के ललए ददशा तरद्श: प्र समखया 19 और 20 मे, अलभकथर (A)
के बाद रक्(R) का कथर हैं (a), (b), (c) और (d) मे से सही व्कलप चुरे जैसा

कक रीचे ददया गया है:

(a) अलभकथर (A) और रक् (R) दोरश सही है और रक् (R), अलभकथर (A)

की सही वयाखया कररा हैं

(b) अलभकथर (A) और रक् (R) दोरश सही है और रक् (R), अलभकथर(A)

की सही वयाखया रहीम हैं

(c) अलभकथर (A) सही है, परनरु रक् (R) ) गलर है I

(d) अलभकथर (A) गलर है, परनरु रक् (R) सही हैI

19.अणरकथि(A): शृंिला 5,9,13,17,………….. के 17 ुपद तक का ्ोगेल

629 ह।ै

तक् (R): ककसी AP के णलए, ्दप ुहला ुप = a, सामान् अंतर=dऔर n ुपद

की संख्ा ह,ै तो Sn= n
2
[2a+(n-1)d]

20.अणरकथि(A):्दप दकसी बाह बबंपु से वृत ुर पो सुश् रेिाएँ िीची भाती है तो

वे कें ुर समाि कोि बिाती ह।ै

तक् (R): दकसी बाहरी बबंपु से वृत ुर िीची गई सुश् रेिाओ की लंबाई बराबर

होती हैं

Direction for Questions 19 & 20: In question numbers 19 and 20, a
statement of Assertion(A) is followed by a statement of
Reason(R).Choose the correct options from (a),(b),(c) and (d) as given
below:
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(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not
correct explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19. Assertion:The sum of the A.P. 5,9,13,17,…………upto 17 terms is
629.

Reason: For an AP, if first term =a, common difference=d and n is the
number of terms, then Sn =

�
2
[2a+(n-1)d]

20. Assertion: If two tangents are drawn to a circle from an external
point then they subtend equal angles at the centre.

Reason: The length of tangents drawn from an external point to a circle
are equal.

खणड –ख

SECTION-B

खणड-ख मे 2 अंको के 5 प्न हैं

Section B consists of 5 questions of 2 marks each.

21.(a)समीकरि णिका् को हल करे:

�
2

+ 2�
3

= -1 and x - �
3
= 3

21. (a)Solve the system of equaions:
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�
2

+ 2�
3
= -1 and x - �

3
= 3

अथ्ा OR

21(b) .णिमणलणित आ्त मे xऔर y का माि जात करे:

Find the values of x and y in the following rectangle :

x+3y

13

3x
+y

7

22.बबंपु (-4,6) बबंपुA(-6,10)और B(3,-8) को णमलािे वाले रेिािंड को दकस

अिुुात मे णवराणभत करता ह?ै

22. In what ratio does the point (-4,6) divide the line segment joining the
the points A(-6,10) and B(3,-8) ?

23.णचष म,े BDऔर CE एक पसूरे को बबंपु P ुर पणत्छेप करते ह।ै पशा्इए दक
∆PBC~∆PDE
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23. In Figure, BD and CE intersect each other at the point P. Show that
∆PBC~∆PDE

24. (a)णसद कीणभए दक
1+����
1−����

= secA + tanA

24.(a)Prove that
1+sinA
1−sinA

= secA + tanA

अथवा OR

24.(b)
5 cos2 60°+4 sec2 30°−tan2 45°

sin2 30°+cos2 30°
का माि जात कीणभए|

24. (b) Evaluate:
5 cos2 60°+4 sec2 30°−tan2 45°

sin2 30°+cos2 30°

25.एक वडी की णमिट की सुई की लंबाई 14 सेमी ह।ै 5 णमिट मे णमिट की सुई ्ारा

त् दक्ा ग्ा केषेल जात कीणभए।

25. The length of the minute hand of a clock is 14 cm.Find the area
swept by the minute hand in 5 minutes.

खणड –ग

SECTION-C

खणड -ग मे 3 अंको के 6 प्न हैं
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Section C consists of 6 questions of 3 marks each.

26.णसद कीणभए दक 2 एक अुटरमे् संख्ा ह।ै

26.Prove that 2 is an irrational number.

27.ण्वात बहुप 6x2 - 3 - 7x के शून्क जात कीणभएऔर शून्कद तथा गुिांकद के

बीच संबंि सा्ाणुत कीणभए।

27.find the zeroes of the quadratic polynomial 6x2 - 3 - 7x and verify the
relationship between the zeroes and the coefficients.

28.(a) ुांच साल बाप, राहल की आ्ु उसके बेटे की आ्ु से तीि गुिा होगी। ुाँच वर्

ुहले, राहल की आ्ु उसके ुुष की आ्ु की सात गुिी थी। उिकी वत्माि आ्ु क्ा ह?ै

28.(a) Five years hence,the age of Rahul will be three times that of his
son. Five years ago,Rahul’s age was seven times that of his son. What are
their present ages?

अथ्ा OR

(b)पो संुूरक कोिद मे से बडा कोि छोटे कोि से 18 णडगी अणिक ह,ै उनहे जात

कीणभए।

(b) The larger of two supplementary angles exceeds the smaller by 18
degrees, Find them.

29. y का माि जात कीणभए णभसके णलए बबंपु P(2,-3)और Q(10,y) के बीच की परूी

10 इकाई ह।ै

29. Find the values of y for which the distance between the points P(2,-3)
and Q(10,y) is 10 units.

30.(a)यदद cosA + cos2A = 1, रब लसदध कीसजए कक sin2A + sin4A = 1

30. (a)If cosA + cos2A = 1, then prove that sin2A + sin4A = 1
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OR अथ्ा

(b )लसदध कीसजए कक (sinA +cosecA)2 + (cosA + secA)2 = 7 + tan2A + cot2A

(b )Prove that (sinA +cosecA)2 + (cosA + secA)2 = 7 + tan2A + cot2A

31. 1.5 मीटर लंबा एक पेकक णचमिी से 28.5 मीटर परू ह।ै उसकी आँि से णचमिी के

शीर् का उन्ि कोि 450 ह।ै णचमिी की ऊंचाई दकतिी ह?ै

31. An observer 1.5 m tall is 28.5 m away from a chimney .The angle of
elevation of the top of the chimney from her eye is 450 . What is the
height of the chimney?

िणड-व

Section –D

Section D consists of 4 questions of 5 marks each.

खणड-घ मे 5 अंको के 4 प्न हैं

32.(a) एक AP के ुहले 51 ुपद का ्ोग जात करे णभसका पसूरा और तीसरा ुप

कमशम 14और 18 ह।ै

32. (a)Find the sum of first 51 terms of an AP whose second and third
terms are 14 and 18 respectively.

अथवा OR

(b) AP णििा्टरत करे णभसका तीसरा ुप 16 है और 7वां ुप 5वे ुप से 12 अणिक

ह।ै

( b) Determine the AP whose third term is 16 and the 7th term exceeds the
5th term by 12.

33.(a)आिाररूत समािुुाणतकता पमे् का कथि णलिकर उसे णसद करे।
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33. (a) State and Prove Basic Proportionality Theorem.

अथवा OR

(b) ्दप ADऔर PM कमशम णषरुभ ABCऔर PQR की माणध्काएँ ह,ै भहाँ

∆ABC ~∆PQR ह,ै तो णसद कीणभए दक
AB
PQ

= AD
PM

( b) If AD and PM are medians of triangles ABC and PQR , respectively

where ∆ABC ~∆PQR, prove that
AB
PQ
=AD

PM

34.(a) लकडी से बिा एक ुेि सटैड एक विार के आकार का है णभसमे ुेि रििे के

णलए चार शंकाकार गडे ह।ै विार का आ्ाम 15 सेमी x 10 सेमी x 3.5 सेमी ह।ै

पा्ेक गडे की णषर्ा 0.5 सेमी और गहराई 1.4 सेमी ह।ै ुूरे सटैड मे लकडी का

आ्ति जात कीणभए।

34. (a) A pen stand made of wood is in the shape of a cuboid with four
conical depressions to hold pens.The dimensions of the cuboid are 15cm
by 10cm by 3.5cm. The radius of each of the depressions is 0.5 cm and
the depth is 1.4 cm. Find the volume of wood in the entire stand.

अथवा OR
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(b)आकृणत मे दपिा्ा ग्ा सभावटी बललक पो ठोस ुपाथ् से बिा है - एक विऔर

एक अि्गोला। बललक का आिार एक वि है णभसकी रुभा 5 सेमी ह,ैऔर शीर् ुर

लगे अि् गोलाि् का वास 4.2 सेमी ह।ै बललक का कुल ुृषी् केषेल जात

कीणभए।( π = 22
7
लीणभए |)

( b)The decorative block shown in figure is made of two solids --- a cube
and a hemisphere.The base of the block is a cube with edge 5 cm, and
the hemisphere fixed on the top has a diameter of 4.2 cm. Find the total

surface area of the block.(Take π = 22
7
)

35.(a) णिमणलणित बंटि एक इलाके के बचद के पणैिक भेब रते को पशा्ता ह।ै माध्

भेब रता ₹ 18 ह।ै लुप बारंबारता f जात कीणभए।

रैननक जेब

भता (रप्ो

मे )

11-13 13-15 15-17 17-19 19-21 21-23 23-25

बचचो की

संख्ा

7 6 9 13 f 5 4

35. (a) The following distribution shows the daily pocket allowance of
children of a locality. The mean pocket allowance is ₹ 18. Find the
missing frequency f .
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Daily
pocket
allowance

(in ₹)

11-13 13-15 15-17 17-19 19-21 21-23 23-25

Number of
Children

7 6 9 13 f 5 4

अथ्ा OR

(b) एक छात रे पतयेक 3 लमरट की 100 अ्धधयश के ललए सड़क पर एक ्थार से

गुजररे ्ाली कारश की समखया रोट की और इसे रीचे दी गई राललका मे समकेवपर

ककयां आमकड़श का बहुलक जार करे:

कारो की

संख्ा
0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

बारंबारता 7 14 13 12 20 11 15 8

( b)A student noted the number of cars passing through a spot on a road
for 100 periods each of 3 minutes and summarized it in the table given
below. Find the mode of the data:

Number
of cars

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency 7 14 13 12 20 11 15 8

िणड-ङ

Section-E

Case study based questions

36.एक णवमाि णििा्टरत सम् से 30 णमिट परे से रवािा हआ और 1500 दकमी परू

अुिे गंतव तक सम् ुर ुहचंिे के णलए उसे अुिी गणत अुिी सामान् गणत से
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250 दकमी/वंटा बढािी ुडी। उुरो् भािकारी के आिार ुर णिमणलणित प्द के

उतर पीणभए।

(i)्दप गणत और परूी पी गई ह,ै तो सम् की गििा करिे का सूष क्ा ह?ै 1

(ii)उुरो् भािकारी से ण्वात वंभक णलणिए। 1

(iii)(a) इसकी सामान् गणत क्ा ह?ै 2

अथ्ा

(b) इसकी रई गतर कया है? 2

36. A plane left 30 minutes later than the scheduled time and in order to
reach its destination 1500 km away in time,it has to increase its speed by
250km/h from its usual speed.

Based on the above information, answer the following questions:

(i) What is the formula for calculating time, if speed and distance are
given? 1

(ii) Write the quadratic expression from above information. 1

(iii) (a) What is its usual speed? 2

OR

( b) What is its new speed? 2

37.एक छाष पो वृत बिाता है भो बबंपु K ुर एक पसूरे को बाह रु से सुश् करते ह,ै

णभिका कें Aऔर B है और णभिकी णषर्ाएँ कमशम 5 सेमी और 4 सेमी ह,ै भैसा दक

णचष मे दपिा्ा ग्ा ह।ै
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37. A student draws two circles that touch each other externally at point
K with centres A and B and radii 5 cm and 4 cm, respectively as shown in
the figure.

उुरो् भािकारी के आिार ुर णिमणलणित प्द के उतर पीणभए।

(i)PA का माि जात कीणभए। 1

(ii)्दप पो वृत बाह रु से सुश् करते ह,ै तो दकतिी उर्णिष सुश्रेिाएँ िीची

भा सकती ह?ै 1

(iii)(a)BQऔर QY का माि जात कीणभए। 2

अथवा

(b) PKऔर XY के माि जात कीणभए। 2

Based on the above information, answer the following questions.

(i) Find the value of PA. 1

(ii) If two circles touch externally , then how many common tangents
can be drawn? 1

(iii) (a)Find the values of BQ and QY. 2

OR

( b) Find the values of PK and XY . 2
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38.ररत अुिे वर के णलए एकेटर्म िरीपिे के णलए बाभार भाता ह।ै उसिे

पकुािपार से एकेटर्म मे कुछ मछणल्ाँ डालिे के णलए कहा। पकुािपार िे अुिे बडे

टैक से 13 गपुी मछणल्ाँ, 18 फलावरहलि् मछणल्ाँ, 12 ‘कोई’ मछणल्ाँ और 11

एंभल मछणल्ाँ णिकाली और उनहे एकेटर्म मे रि दप्ा णभसे ररत िे िरीपा था।

अब, वह ्ापणृ्छक रु से एक मछली चुिता ह।ै

38.Bharat goes to market for buying an aquarium for his house.He asked
to the shopkeeper to put some fish in the aquarium. The shopkeeper
takes out 13 guppy fish, 18 flowerhorn fish, 12 koi fish and 11 angel fish
from the big tank he had and put them in the aquarium that Bharat had
bought. Now , he selects a fish at random.

उुरो् भािकारी के आिार ुर णिमणलणित प्द के उतर पीणभ्े:

On the basis of above information,answer the following questions:

(i)्दप एकेटर्म मे िर मछणल्द की कुल संख्ा 36 ह,ै तो मापा मछली के च्ि की

पाण्कता क्ा ह?ै 1

(i)If total number of male fish in the aquarium is 36, then what is the
probability of selecting a female fish? 1
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(ii)फलावरहलि् मछली को चुििे की पाण्कता क्ा ह?ै 1

(ii)What is the probability of selecting a flowerhorn fish? 1

(iii)(a) कमशम ‘कोई’ मछली और गपुी मछली के चुििे की पाण्कताएँ क्ा ह?ै 2

(iii)(a) What are the probabilities of selecting a koi fish and a guppy fish
respectively? 2

अथवा OR

(b)ि ही एंभल ि ही फलावरहलि् मछली और एंभल मछली ्ा फलावरहलि् मछली को

चुििे की कमशम पाण्कताएँ क्ा ह?ै

(b) What are the probabilties of selecting neither angle fish nor
flowerhorn fish and either an angle fish or a flowerhorn fish respectively?

2


